

فانرسون ۲۵

۱- $\left[\frac{(1+9)(2+4+3+5)}{7 \cdot 26} - \frac{42}{5} \right]$ به بعد ۵۱
مکان صفر است

۲- $\sqrt[4]{\frac{1}{4+5\sqrt{5}}} \times \frac{(1+\sqrt{5})^2}{1+2\sqrt{5}} = \sqrt[4]{\frac{1}{4+5\sqrt{5}}} \times 2(4+5\sqrt{5})$

۳- $A = (\sqrt{3}-\sqrt{5} - \sqrt{3+\sqrt{5}}) \cdot \frac{(\sqrt{2}+\sqrt{5})}{\sqrt{2}(\sqrt{5}+\sqrt{2})}$

۴- $A^2 = \frac{1}{2} (2 \cdot \sqrt{5} + 5\sqrt{5} - 2(\sqrt{3-\sqrt{5}})(\sqrt{3+\sqrt{5}}))$
۴۹-۵

۵- $A^2 = 1$ $A = \pm 1$
(تقریب و فیلتر)

۶- $\frac{\sqrt{3^2} + \sqrt{3^2}}{5-\sqrt{9}} = \frac{(\sqrt{2} + \sqrt{3})(2+\sqrt{4}-\sqrt{9})}{5-\sqrt{9}} = \frac{2}{\sqrt{3}-1} = 3$

۷- $\frac{2}{\sqrt{3}-1} \times \frac{\sqrt{3}+1}{\sqrt{3}+1} = \frac{2(\sqrt{3}+1)}{2} = \sqrt{3} + \sqrt{3} - \sqrt{3} - 1$
 $(\sqrt{3}-1)$

$$\text{ب) } \frac{\sqrt{3}-1}{2\sqrt{3}} = \frac{(\sqrt{3}-1)(3+\sqrt{3})}{2\sqrt{3}} + \frac{1}{2\sqrt{3}}$$

$$\frac{1}{2\sqrt{3}} = \frac{1+\sqrt{3}}{2\sqrt{3}} + \frac{1-\sqrt{3}}{2\sqrt{3}} = \frac{1+\sqrt{3}}{2\sqrt{3}} - \frac{1-\sqrt{3}}{2\sqrt{3}} = \frac{1+\sqrt{3}-1+\sqrt{3}}{2\sqrt{3}} = \frac{2\sqrt{3}}{2\sqrt{3}} = 1$$

$$\text{الف) } A = \sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1}$$

$$A^2 = 1 + \sqrt{3} + \sqrt{3} - 1 + 2(\sqrt{(1+\sqrt{3})(\sqrt{3}-1)}) = \frac{1+\sqrt{3}+\sqrt{3}-1}{\sqrt{3}-\sqrt{3}} = \frac{2\sqrt{3}}{\sqrt{3}-\sqrt{3}}$$

$$A^2 = \frac{1+\sqrt{3}+\sqrt{3}-1}{\sqrt{3}-\sqrt{3}} = \frac{2\sqrt{3}}{\sqrt{3}-\sqrt{3}} = \frac{2(\sqrt{3}+\sqrt{3})}{2-2} = \frac{2(2\sqrt{3})}{0} = \frac{4\sqrt{3}}{0}$$

$$A^2 = 1 + 4\sqrt{3} \quad A = \sqrt{1+4\sqrt{3}} \quad 2\sqrt{3} - 2 = \sqrt{3}$$

$$\text{ب) } 2^{\frac{1}{12}}, 2^{\frac{1}{6}}, 2^{\frac{1}{4}}, 2^{\frac{1}{3}}, 2^{\frac{1}{2}}, 2$$

$$2^{\frac{1}{12}} \times 2^{\frac{1}{6}} \times 2^{\frac{1}{4}} \times 2^{\frac{1}{3}} \times 2^{\frac{1}{2}} \times 2 = 2^{\frac{1}{12} + \frac{1}{6} + \frac{1}{4} + \frac{1}{3} + \frac{1}{2} + 1} = 2^{\frac{1}{12} + \frac{2}{12} + \frac{3}{12} + \frac{4}{12} + \frac{6}{12} + \frac{12}{12}} = 2^{\frac{22}{12}} = 2^{\frac{11}{6}}$$

$$\text{عمومی تعامد} \quad \frac{a^{n-1} - 1}{a - 1} = \frac{3^n(3^4 - 1)}{3 - 1} = \frac{3^n(81 - 1)}{2} = \frac{3^n \times 80}{2} = 3^n \times 40$$

$$3^6, (3^3)^2, \sqrt{3^9}$$

$$\frac{3^n}{3^{n-1}} = 3 \times \frac{9}{1} = 27$$

MICRO

$$\frac{r\sqrt{r}-r}{1+r\sqrt{r}} = \frac{r(\sqrt{r}-1)}{1+\sqrt{r}} \cdot \frac{\sqrt{r}-1}{\sqrt{r}-1} = \frac{r(\sqrt{r}-1)}{r}$$

$$\frac{r(r+1-r\sqrt{r})}{r} = r\sqrt{r} \left(\frac{r-\sqrt{r}}{r} \right) = r(r-\sqrt{r})$$

$$\frac{(\sqrt{n+a} - \sqrt{n-\varepsilon} - r)}{0} (\sqrt{n+a} + \sqrt{n-\varepsilon} - r)$$

$$(\sqrt{n+a} - r)^2 = (\sqrt{n-\varepsilon})^2 = n+a+\varepsilon - 2\sqrt{n+a} - n+\varepsilon=0$$

$$a+\varepsilon = 2\sqrt{n+a}$$

$$\frac{(\sqrt{n+a} - \sqrt{n-\varepsilon} - r)}{0} \cdot \frac{(\sqrt{n+a} + \sqrt{n-\varepsilon} - r)}{0} = \frac{(\sqrt{n+a} - r)^2}{0}$$